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Ao | mes | RER A | mes | RER
CNGV - CHGVH - CHGTHZS 28 FA LASY DR &
500LF &
LPG 798 451 156 8 580, 904 16, 820
PG 67 418 0 168, 788 25, 644
LG 42,890 2 413, 062 221
AG 2,908 1, 000 25, 690 4,330
LT 3,635 917 29 528 9,327
LNGV 0 0 0 0
DL 0 0
LDH 0 0
£ Dith 138 0 2,385 12
EnEgest 1 915,446y _______26/5 ___________} 9,820,357) ________ 56,414 _______
AETERALL (h) 101.7 129.5
Bk o N N o812t ___}\_______ . _.9es8m®ym.________________
WETERA L (h) 101.9
500L 1A = 1000L 5k 7
LPG 0 0 3 1
PG 446 0 5,431 0
LG 282 122 5 448 2,969
LT 0 0 0 0
[(RDIN 0 0
(WD) 0 0
| Z Dt 16 0 36 0
EEdllEk = S I a4 2 o 198 29100
HETERMAL (%) 92.0 66.8
wvege&st .\ 6 _______ ..~ ._._._.1388
XETEREALE (h) 0.1
_[1000LEL E
LPG 1,648 453 8 13,078 5 126 533
PG 0 0 0 32 2 0
LG 185 225 0 1,942 1,297 12
LT 117 1 22 823 137 109
(DN 0 0
(LDH 0 0
Ealolic) 0 0 0 106 53 0
FEpEsss | 190 _________ 685 ______ of 15,981 12 654
SRIERAL %) 90.0 90. 6 110.8
E%& . | 266 _____ ¢ . . 2»8&_
HETERALLE h) 0.2
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